CLASS 11

TRIGONOMETRIC FUNCTIONS

TRIGONOMETRIC FUNCTION

EXERCISE

When the sin x=0 the value of x is

(a) nm (b) (2n+ 1)% (©)(n+) ™

When the cos x=0 the value of x is.

(a) nm (b) (2n+ 1)% (©)(n+) ™

If the tan x = 0 then x =?

(a) nm (b) (2n+ 1)% (©)(n+) ™
Find the value of 1-sin245°.
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1-cos?x=
(a) sinx (b) cos x (c) sin 2x
1-sec?x=
(a) cot2x (b) tan2x (c) -tanZx
1+ tanZx=
(a) secZx (b) -secZx (c) cosecZx
cot?x - cosec?x =

@1 (b) -1 (c) sin2x

coseclx-1=
(a) cot2x (b) -cot2x (c) tan2x
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(d) sin2x
(d) -cot2x
(d) -cosec?x

(d) cosZx

(d) -tan2x
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Q.10 tanxis undefined for

(@0

sin (-45°) =
(a1 (b) -1

cos (-60°) =
@ 2 (b2
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